Ap(L,0)

1 do _
o dA¢(L0)

qub z 77 lpbl

[0,0.4]
0.4,0.78]
[0.78,1.14]
[1.14, 1.48]
[1.48,1.8]
1.8,2.1]
2.1,2.38]
2.38,2.64]
2.64,2.89)]
2.89,3.142]

0.194 = 0.001 = 0.003
0.247 = 0.002 = 0.003
0.278 = 0.002 = 0.003
0.299 = 0.002 = 0.003
0.326 + 0.002 £ 0.002
0.352 + 0.002 £ 0.003
0.374 = 0.002 £ 0.003
0.393 + 0.002 £ 0.003
0.42 £ 0.002 £ 0.004
0.418 + 0.003 £ 0.004

2.191 &= 0. 017 + 0.14
2.793 £0.02 £ 0.179
3.141 £ 0.023 £ 0.196
3.381 £ 0.024 £ 0.205
3.688 £ 0.026 £ 0.225
3.98 £ 0.027 £ 0.247
4.235 £+ 0.028 £ 0.269
4.449 + 0.028 £ 0.273
4.749 £ 0.029 £ 0.296
4.724 + 0.03 = 0.301



